Stat 2470, 4/2 Discussion Questions Name

Instructions: Attempt to answer these questions by reading the textbook or with online resources
before coming to class on the date above.

1. Two-sample T-tests assume that the two samples are independent and allow for the possibility
of different sample sizes. What different assumptions are made for paired T-tests?
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2. Describe the procedures for testing paired samples.
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3. What is the formula for the confidence interval for paired samples?
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4. Which tests in the calculator (and which confidence interval functions) are used for the paired T-
test?
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5. Why is using the independent two-sample test incorrect for testing paired data? When can we

get away with it? 1 | ‘
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6. What is the formula for the test statistic for a difference between two proportions? L%/O
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7. How do we do the two-proportion test in the
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8. What are the formulas for calculating S for |
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9. What is the formula for calculating a sample
made in deriving this formula?

calculator?

- (TT-s4)
§ PoPLasede

his test?

5 = (Pl—(u\] o l—@[%m—al_@ﬁ\
_Q"Q’J [ Gl o P‘:)]

size for a specific @ and f? What assumption is

HjP‘%,leP%:&-z

(%%-\ Q:Zr

m g

n= lzl(grenly rgdfe * 2
d@.

10. What is the formula for the confidence inte
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11. What conditions must be met to use this f

12. How do we calculate the confidence inter
calculator?
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